=2] Y% # (updated)

g dM=(ZEHH)

Al
11:15~11:25

10:30~11:10
11:30~12:10
12:10~13:10

~ 1y
| = ~ ol
a| — | H 3
=~ B il Ko
I TR Soon ~
ol| g & E o hEE =
o 7l | 0O ROEX N Z OO ro
o R B o X o 10
ERN =R ur B 7 ¥ K0 oy
i =R __"._"_M(m I ...A|o|_JX|=._|_uLu B &0
o .__“._.._ S | o 20 oF | &1 Jo & RU| Ko 0[J
i ok g % g o N0 [
A R A I
wo| T | wr K S
ol | ®r o X 0 D
| X0 <0 ojp <
< | oo olo o
N0) Klo
20
(@) (@) o o o o
I X N S 3 2
o < LN \e) \e) N~
14 4 14 14 2 14
(@) o o o o o
= S N N S N
m < < LN \e] (\e]

118 282 (E) 222 zoom Webinar,

17:20~17:50




e

jol
Ho

olo

=%
5.3 4
no 0V
—~ - = =o2 ]
Z Ko E o |z Wy& = = = ~
< BT %) T | Sgg | & o | o = &
1+ <0q1 < _-8l -2 ry - =~ — 0
o . ~ el o)~ 00—~ X = N A_.E
0w e = n3| o2 o | B B | = o > L -
K 50 Hop [ Fujo < 2 T 802, od ohu = ._U_. 3
KR e | o Wl ez | By | &% 50 < ol o 2
no w0l O < £.0° = o= = = K =] 7 =
- K¥= N @.o_A =D 2ol K o 101 — KF = [
] !Mm =~ — 1= c .2 ol~ izl - =l ~O R <F ol
0l10 X1 N 5 o c <r r ol - ~ 0 =l -
do| okeoE | K Dol | 78| 5RO ot | = RO 0 v = 2
ar N 0 E | OT% | o ol RO 51 iof o Kd
N = c .3 [e]] N ol - ._o._o .
K S cX 'y )= - ol N 10 iof
- o0 c - - _A._O N —_
o’ © 5 K or = - { o
>0 o A ~O < - lo
N ol ofo k or S
a=g5 | o < =
[a) okl
ofu il 5 w_w oo
_ KO 0 = K ol N %0 =
< U< | T S <) o K ol 100 5 _
.“_-m.._.._ _._._._ ._IO.H o _ m M_u 8] _ od [} 0 ) m_
100 O_._o._ L_AI il o od _ |A.U|_ =0 0 < Q I
B0 o <| 7 ol | o olo a E
-rIF rdl X0 — I by 0
KM= ] — c s = <0 o —
3T S =< o oln = ~ T H =0
_ e - —_ - - =
KO TIK %mu_ Mﬂ m a4 =0 Rl _MM % 3 Ww 0
Wl 2% | e © F I N SR I =
= . X — _ —
_”_.__u o_"_._._ oFK Joil o__“_ S oD < H.A_l E B |n.U|_ o4 o
— ok E___._wu aQ IH - Ho! ol _ il ok o
3 opoln | k5 - © < ° Kir ) ~ =
3 el | o= 0 ol ol 0F%0 ofn = N ol ol
< maK U] - = plagy Pl Ea c ]
= T _ ol L o ROjor 0 son | T SHEo 7 & UoR
s | 2R oK Ko o RO o | 2| R Il Z | ®RQ | WX
= 5 o . o = o< N -
o KloTH 2 _W._. = fol 150 o | K o °© 5 m,_ﬂm%
R | o | 3 . g | o < | B s L o0
“o == | 9 5 < 0 ol 70 ® 0 <z
- K (o] IS S o - o__._._ o e IR
0 1120 4 % oln g <0 oln <r =) ol ol
olo — 1 @ el - il ~ olo o = 5 o <0
0 o > — Tof ° z o olo
oy © 2 N 5 ol = 20 _ 3
— (0] () Q e = -} H__.= =+
ofl z 2 il £ Y 0 olo » N
g% ] s Boln | Db g
il = Mo < = - RT
IH = = W E 3 Kk
P N o w ol 0
m+ a S = ot T
[a ¥ m o N © L
o- o S S =) —
= & 5 = ™
o a




ﬁ-OII—I

(@&TH)

()
2| _|m &
o | T W = =
fl | Ao ~ | = % T =<
T | Eo| 2T SR E e | e
W | = |2 | J0 | 7o N | OO0 | -
= |2 5ot | fo | Ko | Zo | Ko | sapy | EU
SR E = | = | S| = | ZW| o
e R B o o R N g~ o i B i
A H_| ~ +A_._._ x_._._ :IJI ._um_._._ .A_“_:I :I
K B :._A_.O 0 0 H_An_ T == ===
= § & 00| 0|8E |
ol s |®oup | w | @ | B | s0 | | Dol
o o —r 0> =yl K4
W | — |To || o | opn| T | BRY)TKO
15 o | R | K | D% | ar | SF | moKE
B | B0 | > 2 0
41k g ° S |=
ar 2 B
ad 80
n ol
t+ |2 o
= ol N
60 ~ -
8l O_H _|_._ ﬂn__.o W_._l o
) o | T ol | | F £l
R R I e o O
B ot s | BK | ZU To! o | % i
= Kl | | T © KO
T |5 | ® | B | Bl go | n
GRS T I I = -
) o ~ | 3Bl M| oo
L Kogy | | RU - S | ol
I S I R T T A T
| o U x| | W | B | W b= | K
= 0 ._|m*|._ ru |_|_ — . OTl <0
e i < ol= ofo
R | <Ooh | = 2 rr ol o_ao_
COA s e w T | B
A L T - = AL O o
31 | =H .Ar_o__ & | = [KE| T |~ >
ook | ™ | R0 | w | K| Kb T
— el I B T I I
ol |& s =3 <
5L dlo o | %l R0 =
ol | %o D<o L =l
0 ~ — | o | ~ ™~
<V < 7|2 <0 | ™ oF
ulo < o) 101
o3l u! -7 | o
D_._._ KA LN
IH hJ ) O r~ [ce) o o — Al
e a a o o o o a & a

(SHETH)

o

ke

jol <
X0 =
olp %

o oo .
= -0 =
~ mm_noa_..k@ [
—~ | ~ | & | k| | A
= = ) n_l._%:lﬁ_ = | ifr
T | T | ¢ |K 0| x5 [0
5 | Bl S | NONRORO | gy | T
= 5| 2| = | oW
o ~gio =
Klz | | 8 |0 x|z o2
o o /m\ RU0=nl | © | =l
. il
n > ._._.:HIO - o o=
of | of | > | ropls | B | oo
= ._|OH T | X =0 | K 3
ok | K o | goiols | & | =
S | g o
> | BORoKoD W
o ol
xr & 1!
IH .w o
RMX 5 r |2
100 S |m H oo
o |~ 14 Kir L, | O
o, |B0= ° - <0 | .
[ AN ) B | N0
R 2 ) o | T
= s w o on | gK
(RO o = e
101 - ] 1| =
M [fos 0l © - =+ | ol
ot |95 1ol
OB w 2 | M
= R a iy KO
= | %o [BoRM| 2 M_o = W_E_ﬁ
_ K olo
T X |
S |—RUT | = 8T 5 | m
o S | H
Ol1h c B0 ~ | oo
S 30 - I | o
80 |l . an or & | o
a1 |ogr | & o on | &
= ¥z 5 olo n
= e | . o 8
S | @ | ol
of |0l o 80 —
= ol
S < r
8o Aa Jod
1H Q) < ) ©0 ~ o)
| & & & & & a




e

jor

ol

©
~
oo
g5 | =
—~=2 = )
= s = 3
~ oy =9 z :
= o g =3 S
70 1 <o T Z
L | B 50 8- s _
=z | = e = ° g
®| & = 22 :
II_ . iy
o ~ 52 - £
oH = £5 z A
= W.I\(\ ol 2}
ke, : il
%0 o2 o "
3= D S
€ ol
owun
T
._Iﬂ —
L] % ol
_ = S wn Rl o
o] =) < £ ofn T
K4 = 58 | = %0
. = o = s
0 ok Ny K
o_ﬁ_ o D@ | T ;
o e S0 | =
l T g | R _._U
W a 28 | N | S
g K c5 | T Zor
or = Ho“:t d% S o__“_m_
oo & 3550 So | &or | ao
= | oo | o | 58 |TER| o
o0 S = | o
oo 33 | i | =X
T . ] ol A_H_
Q O o J
DI T B2 O|7_.= |m_|/
- o5 ! ._
_”__u_ .AO cE I_.AI
o < £ A_H_o__“_ S
_ mUr_ OB - D._ _._._|
m = 9 m ol 1!
= =0 =) 5
5 | % 2z | ® %
0 - S2 | ol 3
o, il -
RO ol _u__
H__.._ — ol ™
[a [a o W
R 2.8
= S =

B

ata: AW @)

i = =
g I =l
X =l = ]
P = | W | =
NW_H ﬂm o_._._._ F_.___.I__ ._IH___“_
= i) - ~N
N S S0 3 i 2
5% =
E o< ol ._A_.o 10! o =3
o ) o ol = ol
_._.__ _A_l SoRl R X0 <
TR Klo%0 m_o « R0
T < ol i o
o_n ||._|L & Eﬂ ﬂ_“_
r N =
=
o
= o Eit]
= of
_._.:m___ H o |
pal ofr E_ﬁ :I
Rl - 20 |w H
R K Ul oo Wn md
10 0 3 z
= 70 0K
oz 8 o7 ofn
SO KFZ0 st e K
ool | our o | 2
o = ol
or | <% éwﬂ_ Hoh“_w_ = nr
= | Tow | W K0 oo
QO__“_ .“_.n_m afl _|_._ —
wo | w¥ | ZE | & o
S| U | gm | ow | &
HwAro E=) _gn — =)
KO3 =] ol <0 %m
CTET N MH il o
M._ = ~ o i
DEA._ =} uF own__
._|n.v.._.n__.e .._A.|o Bo o
5 A Mo 2,
o
H__.._ — o o
i o [a) [ a a
(V2] wm wv w
& 3.2
= R Y




ol

Mth)

(

f
0.®
- C
V T
. =) A
o 2L= w
or= gE = =
RE | 8B | F on | @
e | So 2L | = Bx | &
S _._._|O = W.WA Bl _Uo._o._ 30
= = Okl == N 3
._o.__/o . ®©T70 = = K
oS | . A
od=, 39 on
o | gz | ° il ,
™ Ja W.m o offutor xr
fo S <
K =3 - %
2 =
©
ofo =)
i =)
iy <k
i =R xr
o rzr . i
.._A.ol_ 10x K &
ol - KO -
w_w_% H o ur ol
10 = i
ool H =hm | B =
|r._..A.o Ho oF N = ._M
Bl o =N o 10l Ho:.__
" T2 m +o_o._ko T oF ‘
il _© KIral— o
S - w_mltm oju OH
g5 o0 | wam | o
B & T
= o o LHo _
Fru R 5
_'o_ e Lxe -
~F Lun_ _u_._._... ql_ .__Ano
40 o _A_u_ m_.u.o
m_.__u& mouxu S a
L ol
70 o 5
0 To. o
— +°I_ )
fo o
n
IH ©
~
I W = © o =
I T T -
[a o L
- :
_/l o
5 8 , %
< <

e

jor
Ho

olo

(eh=2lth)

<r
KO
ol

q

b

KO
K4

ol 101
0 KF 2
Ry -
%0 R | 2z
o~ T = m
S
. < L
.HI [ie4 .__A.omy._ mm x
_AT% RS ~3 M._ﬂ.w
E O S
a e | TS| K
, o = K4
KF oF 5 2
80 %0 ;v
< )
ol or @
10 2
N
X K0 T S
= i} 5.0
o | N
oo S 52
« |1 |38 =
2z &
H0 Klo 3 .__AA__u
m Toxr £9 =
o | | 2 | By | E
T | o5 | ®™ g2 .
T _ o =0 o
ol 2
T oo g0 =
o © X
. Ko X0
e ol oL oo
R A 5 4r
= 3 Z
< (0] .WA ol
7 < o
z o2
i £e
ANn wo =)
o ol e
1H — o
i I I N & 5
wv wv
ﬂl; o o
N N
= 3




